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for the questions
- Paper : MINFIN2
( Cost Accounting )

1. (@) T RAER o1 ey B : 1x4=4
-  Write True or False of the following :
(i) fS Lo *Radaar 335 &3 (2 A= |

Variable cost per unit remains
constant.

(i) I AR T FrEeR RIS WF o
T RO1PR 2T 1 |

Cost accounting is not needed if
prices are beyond the control of the
firm. \
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(2) - | - (3)

(i) G T TS 21 | - 2. w7 IR R (@ BRER eo@e o G ot -
Service costing is applicable in » 4x4=16
canteens. | . Write short notes on any four of the

(iv) @ I TR OTH TS TS S following :

)
%awamwwmwwgl - (@ IFE
Machine hour rate method of H Cost Centre
absorption is suitable where major
portion of production is performed (b) TT© HS
_ by machine. - Material Loss
(b) <N BT [T I : 1x4=4 ©) RE S
Fill in the blanks : ' Overtime
() zﬁmwﬁwm_wmwm A (d ABC Remd
- ABC- Analysis
. Cost accounting provides data for
managerial ____. (e) T Al @M ARFE
(i) ITIS ﬁqup[g bl fAfR" FIFO *=f% _ Rowan Premium Bonus Plan

FIFO method of valuiﬁg material

] ; ) L. Causes of Labour Turnover
issues is suitable in times of .

(i) S A GRRRFH 195 «Bl 3T | ' 3. (@ IR CcAReew P R W2 W
A landline telephone expense is cRermmy Ritn s o Rda @ I
cost. ey easan #4401 4+6+4=14
(iv) R=35 Trmre s I3 TR w0 A What do you understand by cost
490 | classification? Discuss the various
The method of costing applied in ' \ bas.es of classification of costs and
biscuit industries is costing. \ various types of costs.
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(4)

§2qr/ Or

(b) 2023 %R TR A IR GO AN oS
31 AR 2fS GFF AWAT Jo SeoAT IW AE
W @ERE W o oS T | Awe RE
I =red I o Sferean - 5+4+3+2=14
Prepare a Cost Sheet to show the total *
cost of production and cost per unit of
goods manufactured by a company for
the month of July 2023. Also find the
cost of sales and profit :

591 (?) =t (?)
FOAPR SB[E, 2ATBY STFY 1,500
01.07.2023 3,000 Depreciation on Plant
Stock of Raw ATHI 51 ﬁ@?
Materials, 01.07.2023 TS (91 CTFOA 300
O & ] 28,000 Loss on Sale of a
Raw Materials purchased part of Plant
FOIRER 7B, IER S SAF YL 3,000
31.07.2023 4,500 Factory Rent and Rates
Stock of Raw Renrrr 435 600
Materials, 31.07.2023 Advertisement Expenses
et TgR 7,000 SRR AReNY 2,000
Manufacturing Wages Income Tax Paid
FRETR I8l 500 R& 50,000
Office Rent Sales
RINIER IS 400
General Expenses
R& @ 300

Discount on Sales

24P/1178 ( Continued )

4. (a)

(b)

24P/1178

(5)

2023 519 IR A fooqe Teorfre Tefitq
A W 3000, W AW
8 01.07.20235 wfR® 200 W@
31.07.2023% Wit 400 MG
01.07.2023 iRty Tee &1 Lt TP
W AMRE 2,800 511 2 SRARR B
fooTe R a1

The number of units produced during
July 2023 was 3000. The stocks of
finished goods were 200 and 400 units
on 01.07.2023 and 31.07.2023
respectively. The total costs of the units
on hand on 01.07.2023 was ¥ 2,800. All
these had been sold during the month.

e fwa o R 2 e TR B

% 2 R oo/ Ry wcems $911 3+3+8=14

What do you mean by material control?
What are its techniques? Discuss its
significances.

%[/ Or

& ¥fF 80 XY WY T ARG I IX
SRS f S 100 9611 (ody e TR
250 531 of wre | RafiRe TR W FEE
59 R oMo R e sreRT I
T SN I TG AT 9
A worker takes 80 hours to do a job for
which the time allowed is 100 hours.

His daily rate is €2:50 per hour.
Calculate the works cost of the job

( Turn Over )
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5.

(a)

(b)

24P/1178

(6)

under the following methods of payment
of wages and statement of works cost
and calculate the wages :

(i) I Y / Time Rate
(ii) TR fRFF / Halsey Plan
(ifi) I’ +4RFFA / Rowan Plan .

e o
Additional fnformation :
(1) A=A I®—120 531
Material cost—¢ 120
(2) FRIEH 470 TGRI 125%
Factory overhead 125% of wages

TR T o 2| Ay IR B 7 I
ReeT 31 =2 TR TR SRRe e =
CTRAT FIEPRR [ <41 | 7+7=14
What factors would you consider for
determining the overhead absorption
rate? Explain the causes -of over- and
under-absorption of overheads.

SR/ Or
G RegR /1 961 R=ge 37 961 T A
R » 14
From the following particulars, compute
a comprehensive machine hour rate :
(i) ] I®—1,00,000 531
Cost of machine—¥ 1,00,000
( Continued )
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(7))

| SEEIAE SI—15 39

(@

Estimated life—15 years

S8 T7—10,000 B

Residual value— 10,000

o RIS oF THINIFT o @

- RgfST MI 40 THR wvet IS «R IR

(i)

(iv)

v)

oSBT GfoT 2040 951 SRR T

Machine running hours 2040 hours
per machine per annum including
idle time of 40 hours due to repairs
and maintenance and breakdown of
machine

@R =& 35 A T9e—20 MG ;
& 79 2fS 100 FBRG—80 Bl

Power consumption of the machine
per hour—20 units; Rate of power
per 100 units—¢ 80

A TS & ST IR wE Tl
AT wive o o SR TR
12,000 531 &S Iz7®

There are two operators in the
shop and wage of an operator who
is in-charge of two machines is
¥12,000 p.a.

(IR T8, TR ST 39 2R 4,800 521

Rent, rates and taxes of the shop—
4,800 p.a.
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(8)

(vi) QTR I A B 4 (anfes
400 Bl :

Insurance premium for the
machine—¥ 400 per quarter

(vii) =S R MYRT CIRT I 600 Bl
General lighting per month—¢ 600

(viii) oS MR CATS JF THMIHT B
400 537 ofS cfore

Repairs and maintenance expenses
per month—¥ 400 per machine

(i) G TN SIRYEFY wWR . ofS

1,500 531 ’
Shop supervisor’s salary . per
month—¥¢ 1,500

(x) G w1 =R 6,000 FF SR
IR TR Freme wRide

Other factory overhead allocated to
the shop—¥ 6,000 p.a.

@By W URE G@FEE @t SR
SRRy few W L e @fbeR
SR AR I IE |

There are four identical machines in the

shop. The supervisor devotes %th of his
time for supervising the machine.

( Continued )

6. (a)

(b)

- 24P/1178

(9)

pfes Roreresa et & @ 2 Rfen 3@ pfss
RECT e 391 | Ao e Roreresd FER
RorRTR [ @ 42, o’ Rea amm
0

What do you mean by contract costing?
Discuss different types of contract. Also
explain how cortract costing is different
from job costing.

%211/ Or

RS PEEFE AN FRGEe 2023 w1
TR MRS qreaz R efemca fofn
AT oM oFe IREE | A afemns P
SHR 2% CRR IW qF 10% 18 =0 R
1 9% 2 AR o[ ofS 5w 100 b1 w@
fer 33 ~[1 ofS Bw 20 591 oS TR |

o1 of Semermz e gweRs
oA 9 :

Bengal Chemical Co. Ltd. produced
three chemicals during the month of
July 2023 by three consecutive
processes. In each process, 2% of the
total weight put in is 16st and 10% is
scrap which from Processes—1 and 2
realize ¥ 100 a ton and from Process—3
¥20 a ton.

4+3+7=14
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(10)

The products of three procesSes are
dealt with as follows :
AFN—1  dfFm—2 a3
Process—1 Process—2 Process—3

A AFA CRIFTMT 75% 50% —

Passed on to the
next process

RFIIR oma dsqrm  25% 50% 100%

Sent to warehouse for sale

alfdFm—1 2AfaF—2 aAf&n—3
Process—1 Process—2 Process—3
[ tons ¢ tons g tons
GO 1,20,000 [1000(28,000| 140 | 1,07,840 [ 1348
Raw
Materials )
o 7GR [ 20,500 | — 18,520 — | 15,000 [ —
Manufac-
turing
\Eges
[T I 10,300 — | 7,240 | — ) 3,100 —
General )
Expenses

aﬁozh%awaﬁs%ﬂ@ﬁmﬁ‘m“
&1 ergs 41 | 14

Prepare Process Cost A/cs showing the
cost per ton of each product.

24P/1178 | ( Continued )

(11)

Paper : MINMKT?2
( Advertising Management )

1. R eiRees Tex faan . 1x8=8

Answer the following questions :

(@ WOM S =T forar |
Write the full form of WOM.

(b) PPC3 (3 forn |
Write the full form of PPC.

(c) AIDA 3 ™ forat |
Write the full form of AIDA.

(d) =T IS SHRSLF FALR] Rewrem Ty &2

Which is the most effective media of
advertisement in rural society?

(e) R b1 (M for |

Write one feature of advertisement.

(N RS ooR-Mw I GReF Swrmaet fian |

Give an example of advertising media
~ vehicle.
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(12 ) | - (13 )

(g) ST @b @oNAicT g1 O R 2o[ - 8. (o) ReErrs v fE ) @b T RS RereRR

T, O [ I o = 2 4 G AN T 4+10-14
When a company gives false message in . Define advertisement. Discuss the
advertisement, then is it known as _ ' significance of advertisement in a
what? A business organization.
(h) POP RerRe oy @Bl am R 2 . ' {1/ Or
What is the other name of POP b)) ReErR ReEm &2 Rern ResR 2fRmm
advertisement? NG e 41 | 4+10=14
o oo fil B ] R SO 5 5 : What is afi\fertlsmg pflannmg? Discuss
the advertising planning process.
fern - 4x4=16
Write short notes on any four of the 4. (0) FAFS IFIFIT QAT A * =2
following : GPAFS TR AR RS TR
(a) - DAGMAR o™ . [ FA 4+10=14
DAGMAR approach : What do you mean by integrated
b R marketing communication? Explain

different elements of integrated
marketing communication.

(c) eR-ER JCHD ‘ %1/ Or
Media budget

Sale promotion

(b) ITR VST, THRIFIT AF WA AT

(d) ARF RerE | o ¥R 5 weq Fea B @2 Reww
Word-of-mouth of advertising sfemre M T Sl e o 1 14
(e) oPR-TYI What do you understand by market
Media class s‘egrfmntatlon, targettng and posi-
\ tioning? What are the importances of
(N Mo ' \ market segmentation in advertising
Segmentation , process?
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(14 )

5. (@ T R 7T TN ISR TCACS A

6.

(b)

(@)

(b)

24P/1178

IR T Rerermroiz R R wgfem w2

_ 4+10=14
What is attention? What are. the
practices followed by advertisers to draw
attention of target audience?

¥%{T1/ Or

Rerm =mme1, R @ R o wy
IR R wRew frgn 14
Write in detail about advertisement

recall, comprehension and interpreta-
tion.

T P R @ B v IR
TomrerrR R 9 4+10=14
What do you understand by message?

What are the major elements of a good
message?

weq1/ Or

Revre eom-m 7 Ress egs Ak
AR AOR-TFPIZA RIG A 37 | 14

What is media in advertisement?
Discuss different types of media used in

~ advertising.

( Continued )
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Paper : MINHRM2
( Labour Welfare )

1. (a) oS fRAIRT A9 3% °70 3]0 : 1x4=4

Fill in the blanks of the following :

() ___ A AR IR o S
PR Q0 IR CFR G’ FFERER
Al

means all those efforts to
make life worth living for workmen.

(i) SRS FRAW Wi, 1948 PR @50
fagfes farchr urenER 41 (2R |
The Indian Factories Act, 1948
made it mandatory to appoint
qualified .

(i) ORI offreT (xr @F PRI
A< 1 -

Vestibule training is a type of _____
training.

() ____ TR @ Sie afdme @
3 SreildT e ARRE AT weRAW
51 |

' is an unexpected occurrence

in an industrial establishment

causing bodily injury to one or more
persons.
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(b)
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(16 )

wore AR v% (e o 1x4=4
Write True or False of the following :

(i) IR ez AR M TS QAN
HF AR 9F I |

Counselling is an act of communi- : .

cation and discussion among
concerned parties.

(i) ST AR 9Y 2T 93 ES G
TF oA TR 9 |
Social security refers to the

provision for security of life and
property in a society.

(i) e e S @@ R
fia

In social insurance, contribution is -
made only by employers.

(iv) 1961 W O QARG %o
FoRPae BReT M awre R
Ty T (R |

The Maternity Benefit Act, 1961
deals with providing medical
insurance to employees.

( Continued )

(17 )

2. wes AT R @I SRR 8o oy (B forat -

4x4=16
Write short notes on any four of the
following : .
(@) TR A=W

Social Assistance:

(b) TR 2R

Accident Proneness

(c) ORI ISR
Employee Counselling
(d) =F° [ SHMA

Group Insurance Scheme

(e) TECRI A
- Public Service Scheme

(n cRE A oS
Vestibule Training Method

3. (@) TATOR KT WF IR fed LS SR
ufi FameR HozP e RerR Recr scemn
901 14
Discuss the history and development of
labour welfare in India during the pre-

\ . Independence and post-Independence
\ era.
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(b)

(18

. 991/ Or ¢

AR FANR RN, SR SE G A 0

Exblain the concept, objectives and
importance of labour welfare.

4. (@) IHRR ofrsa R FON oFrer Rfte
TSy R SCes= 41 | 14
What is employee training? Discuss the
various methods of employee training.
S/ Or
(b) ST T R S TR IR W
o RIC SEsn 41 |
What is industrial accident? Discuss the
causes and effects of industrial
accidents.
5. (@) =R W T IR A, 19483
GG 4F1 R I 410 | 14
Explain the provisions under the
Factories Act, 1948 regarding the safety
of workers.
Y211/ Or
(b) e T R 2 TR WW@W@W
AT 41 4+10=14
What is social security? Discuss 1ts
scope and unportance
24P/1178

( Continued )

6. (a)

(b)

24P/1178

(19)

SRS WRE ER IR Rfen @i we

AT de1R Rey Seesa 31 | 14
Discuss the implications of various
legislations and schemes for social
security in India.

9391/ Or
e e g 2fiF FR @ SR
Torer RS g Reca seasn F41
Discuss the various provisions available
in India for welfare of female and
construction labour.
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1. ooe MAIER BT & Sew o

(20)

Paper : MINBNI2 ¢

( Principles of Insurance )

Write True or False of the following

() mﬁmmw @Wﬂfﬂwwm

L

(c)

(@)

(e)

24P/1178

ST e |

The main purpose of reinsurance is to
maximize profits for insurers.

-8 [ T @b RE Q’Fl e
“fffoq TS |

One of the characteristics of non-life
insurance policy is limited - policy
duration. .
MW FeReR T I T A PR 7w
AR T

The main function of insurance
regulators is to fix insurance -premium
rates.

2p% T FoITER My QR |

Group insurance has higher coverage
limit.

@ wRF Ao AFe IR Wy el
AR FOIRE 27 A |

Whole life policy provides coverage for
the entire life of the insured.

( Continued )

1x5=5

'(21)

2. ©oe RUART R MR I T 1x3=3,
Fill in the blanks of the following :

(a) MR A wpR e IfET TR
Rvases ofS wifde Ty AR =«nfam |

principle of insurance states that
\

the insured must have a financial
interest in the subject matter of the
insurance.

(b)) R 76 uF ﬁawp e T4 M| g
— Emm
An insurance contract defining its terms
and conditions known as

() RO & W Ao ___ I=q© oy T
f
Life Insurance Corporation of India was
established in the year

3. wfe e R e st eoe vy Gt o

4x4=16 .
Write short notes on any four of the
following :
(a) JM2ER PAREN
Rider Premium
\ (b) PR 7
\ Surrender Value
24P/1178 ( Turn Over )



(22) (23)

© TE - 5. (@) e R Gies wve RiSn @m0 I
@S w1 14
Discuss about different types of
insurance personal associated with

Insurance Life Cycle

(d) AR TR _ 2 commercial insurance.
Benefits of Annuity . . . 9441/ Or
(e) R Jfyrt e (b) Tewﬁmﬁmmﬁaﬁwq%
R e e o o

Principles of Utmost Good Faith ‘
Write a detailed note on the evolution

and growth of Life Insurance

‘i (N TF-Fices b AR : . Organizations: in India.
Unit-linked Insurance Policy :
6. (@ 1 I 7 9 R IRy wF MRTER
:  Re s #:4 | 3+7+4=14
4. (o) I T TE IJREWA 2 7 g ' What is group insurance? Discuss the
WWWW | 4+10=14 advantages and limitations of group
What is risk managemeht by indivi- m‘suranc.:e.
duals? Discuss about the dDifferent 2 " ER{r/ Or

1 classes of insurance in detail.

j : (b) TS MARIR I A1 7+7=14

. wR[/or Explain the following :

| (b)) W (PR SHART S TR @ g () ST 0 T o

g‘ & SIS 3 | 14 . . Surrender Value vs Paid-up Value
Discuss about the role played by (i) a1 R G ~ffe Tm w© ]
insurance in the economic development \ SRz Afifo
of our country. ' With Profit Policies wvs. Without

Profit Policies

~ 24P/1178 ( Continued ) - 24P/1178 ( Turn Over)
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7. (o) 9-8 M 2 9-&w I A @Ry

()

(c)

24P—6000/1178

(24)

I JRAPARA R STt 41 | 3+11=14

What is non- -life insurance? DlSCl.lSS the
features and benefits of non-life
insurance policy.

T/ Or

ool | ¢ FATFH (FIS IRDAT I
I FROTRI R S 4 |
Discuss the power and functions of

IRDA in regulatxng Indian insurance
sector.

=T/ Or

Sed AT IHIA o1 SR I A7 |

Explain the main constituents of the
insurance market in India.

* & %k
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